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DIRECTIONS

1. Write your name, 10-digit PUID, recitation instructor’s name and recitation time in
the space provided above. Also write your name at the top of pages 2, 3 and 4.

2. The test has four (4) pages, including this one.
Write your answers in the boxes provided.

4. You must show sufficient work to justify all answers unless otherwise stated in the
problem. Correct answers with inconsistent work may not be given credit.

5. Credit for each problem is given in parentheses in the left hand margin.
6. No books, notes, calculators or any electronic devices may be used on this exam.
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(7) 1. Find the domain and sketch the graph of the function g(z) = vz — 2.
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(7) 2. (a) Is the function f(z) = In|z| even, odd, or neither?
lewxi “::;ngéfi

(b) Make a rough sketch of the graph of y = In |z|




MA 165 EXAM 1 Fall 2009 Name Page 2/4

2 3
(8) 3. Ifcosf= 3 T < 0 < —;, find the following:
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(6). 4. Find all values of z in the interval [0, 27] that satisfy the equation sin 2z = V3 cosz.
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(10) 5. If f(z) =2 — €®, find the following:
(a) A formula for the inverse function f~*(z).
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x = - 5 @) = dn (2-7)

(b) The domain of 1.

6| x<2 ac (-0, 2)

(c) The range of =1

all g oc () |

LA

(6) 6. Using a theorem about continuous functions, we can conclude that the equation
z*+r-3=0hasa ro@in one of the following intervals:

A.(-1,00  B.(0,1) ¥©)@a,2) D.(23) E (3,4
(a) Circle the letter of that interval.
foo = ¥ 4%n-3
%(;,3);3@"3 <0, g(o)m.m).gc) %ﬂwvimj) {(@)W%P’Q {2)=81>0, «%(4) 2570

(b) State the name of the theorem you are using.
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(12) 7. For each of the following, fill in the boxes below with a finite number or one of the
symbols +00, —oco, or DNE (does not exist). It is not necessary to give reasons for

your answers. 2pla eac I
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(6) 8. Write the equations of the vertical and horizontal asymptotes, if any, of the graph of
_2z+1 3pla each NEC

T — 2 +’ 7 .
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x—2t A= \‘g 0 xX=
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(6) 9. Find the numbers at which f(z) = ¢ €® if0<z<1 isdiscontinuous. |
i}éaﬁ) 2—z ifx>1 ;
W 3 . N ., . el L ., "‘L,t
| ) 25; ) % Ve (;OY&A VIV LE & V!.{W I Q‘w‘ A €*»'w¢‘(:,{f-i‘ %m@ iy au% <s; Oli %«g {} 'j
20 x=0 G :%”( A= 1 Lor $om=4 .+ Lim _fQ()
4 x= 07 0¥ 1= f@) |
%/-/ o) - mggc }Q ﬂ
@, , T & «’) Cryi o g A=
/j %‘*-@\ A EA L { () = @ {tm %( %) ":'\me_ “f and.
. (// i ;i’ » ,\/\L\.‘, . :’«x?{ X - d.m a ‘\Q Pém
/ \ o Legoo D NE .
K X3 { cbhsrom ( (\jw—[ X = ’l L@j




MA 165 EXAM 1  Fall2009 = Name Page 4/4

(10) 10. Find the derivative of the function f(z) = /1 — z using the definition of the derivative
fle+h) - f(z)

f(z) = }IL% - . (0 credit for using a formula for the derivative).
Vo0 — Do SO =500 _ (11, (amach =Vax
h = ¢ g’? b0 h ,
s - . R
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M i omistbn o) sin.
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(6) 11. Find an equation of the tangent line to the curve y = z + cosz at the point (0, 1).

djﬁ”_ o ,i o %é@“i‘”’ﬂ% NPC
o = A
dhy =t g-1=4(x-0) 3= x4

“dw la=0
(16) 12. Find the derivatives of the following functions. Do not simplify.

(a) f(z)=3e® — Va2,

- " 2. -
= 'ﬁéxm " 4 / ~ - ,é;
foo= (7
rsinz
(b) y=—
d, {st;‘;ﬁw i) — 6’ X5
ax et

(¢) h(B) = csc + e’ cot b.

, 8, 1. 8 *E 5
higye - cstBeott € (esce) & € enle

(d) f(t) =+/t+ ¢ tant.

X %
= 1%t tanl / . D
fB=Lt72 Lteedt + Bt tant
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